

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Department of the Treasury Internal Revenue Service

Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust

Treated as a Private Foundation

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

OMB No. 1545-0052

2009

Fo	calen	ndar year 2009, or tax year beginning	, 2009	9, and e	ending		, 20
G	Check	call that apply: Initial return Initial re	eturn of a former p	ublic ch	narity	☐ Final return	
			*.		ne change		
110	e the		Y	=		identification number	,
Ο.	label.					55-0779947	
0	therwi	Transcriber and direct (or i o bex number in main o not delivered	to street address) Roc	om/suite	B Telephone	number (see page 10 c	of the instructions)
	print or type					304-295-3311	
	e Spe				C If avament	ion application is pendir	
	truction				•	n organization is pendir	=
Н	Check	type of organization: Section 501(c)(3) exempt p	rivate foundation	_	•	n organizations, check n organizations meeting	
$\ddot{\Box}$		on 4947(a)(1) nonexempt charitable trust		tation		here and attach compi	· —
∺		narket value of all assets at J Accounting method				foundation status was	_
•		fiveen from Bent II and (a)				07(b)(1)(A), check here	▶∐
	line 16		on cash hasis l			ndation is in a 60-mont ction 507(b)(1)(B), chec	_
P	art I	Analysis of Revenue and Expenses (The total of					(d) Disbursements
		amounts in columns (b), (c), and (d) may not necessarily equal	(a) Revenue and expenses per		investment	(c) Adjusted net	for charitable
		the amounts in column (a) (see page 11 of the instructions))	books	l in	come	income	purposes (cash basis only)
_	1	Contributions, gifts, grants, etc., received (attach schedule)	216,659				
	2	Check ► ☐ if the foundation is not required to attach Sch. B	210,039				
	3	Interest on savings and temporary cash investments	249		249		
	4	Dividends and interest from securities	23,475		23,475		
	5a	Gross rents	20,415		23,713		
	b	Net rental income or (loss)					-
a	l	Net gain or (loss) from sale of assets not on line 10	(19,583)		* .		
Revenue	6a	Gross sales price for all assets on line 6a 79,025	(19,303)				
ē	_b				(23,494)	• •	-
Ŗ	7 8	Capital gain net income (from Part IV, line 2)			(23,434)		
_	9	Net short-term capital gain					
	10a	Gross sales less returns and allowances					
	b	Less: Cost of goods sold					
		Gross profit or (loss) (attach schedule)					
	11	Other income (attach schedule)	114		114		
	12	Total. Add lines 1 through 11	220,914		344		
_	13	Compensation of officers, directors, trustees, etc.	220,514				<u> </u>
es	14	Other employee salaries and wages					
cbenses	15	Pension plans, employee benefits			-		
þe	16a	Local foco (attach cabadula)	<u> </u>				
W	b	Accounting fees (attach schedule)					
8	C	Other professional fees (attach schedule)	3,962		3,962		
trati	17	Interest	0,532		7,002		
and Administrative	18		824		799		
<u>≅</u>	19	Taxes (attach schedule) (see page 14 of the instructions) Degreciation (attach schedule) and depletion					
퉏		Occupancy					<u> </u>
₹.	90E#£22	Than Air, confiere hopes, and meetings					
פַּ	55	Printing and publications					
. ש	23	Other expenses (attach schedule)					
ĭĭ	24	Total operating and administrative expenses.					
a Z	<u> </u>	Add lines 13 through 23	4,786		4,761		
Operating a	25	Contributions, gifts, grants paid	65,000				65,000
O	26	Total expenses and disbursements. Add lines 24 and 25	69,786	-	4,761		33,030
	27	Subtract line 26 from line 12:	35,1.50		7,, 01		
	a a	Excess of revenue over expenses and disbursements	151,128				
	b	Net investment income (if negative, enter -0-)			-0-		
	l .	Adjusted net income (if negative, enter -0-)		-			

For Privacy Act and Paperwork Reduction Act Notice, see page 30 of the instructions.

/// Cat No 11289X

Form **990-PF** (2009)



D۵	rt II	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	Beginning of year	E	nd of year	
Γē	للحاي	should be for end-of-year amounts only. (See instructions.)	(a) Book Value	(b) Book Value	(c) Fa	ır Market Value
	1	Cash—non-interest-bearing				
	2	Savings and temporary cash investments	87,885	115,	350	115,350
	3	Accounts receivable ▶				
		Less: allowance for doubtful accounts ▶				
	4	Pledges receivable ▶				
		Less: allowance for doubtful accounts ▶				
	5	Grants receivable		····		
	6	Receivables due from officers, directors, trustees, and other				
		disqualified persons (attach schedule) (see page 16 of the				
		instructions)				
	7	Other notes and loans receivable (attach schedule) ▶				
S		Less: allowance for doubtful accounts ▶				
Assets	8	Inventories for sale or use				
As	9	Prepaid expenses and deferred charges				
,	10a	Investments—U.S. and state government obligations (attach schedule)				
	b	Investments—corporate stock (attach schedule)	969,690	1,093,	353	1,198,501
	С	Investments - corporate bonds (attach schedule)	<u></u>	 		
	11	Investments—land, buildings, and equipment: basis ▶				
		Less: accumulated depreciation (attach schedule) ▶				
	12	Investments—mortgage loans				
	13	Investments—other (attach schedule)				
	14	Land, buildings, and equipment: basis ►′				
	4-	Less: accumulated depreciation (attach schedule) ▶				
	15 16	Other assets (describe)				
	10	Total assets (to be completed by all filers—see the instructions. Also, see page 1, item I)	1,057,575	4 200	702	1,313,851
	17	Accounts payable and accrued expenses	1,037,373	1,208,	703	1,313,631
		•				
es	18 19	Grants payable				,
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons				
abi	21	Mortgages and other notes payable (attach schedule)				
	22		-			
	23	Other liabilities (describe ►) Total liabilities (add lines 17 through 22)	-0-		-0-	
		Foundations that follow SFAS 117, check here ▶ □				
Ś		and complete lines 24 through 26 and lines 30 and 31.				
ဥ	24	Unrestricted				
<u>a</u>	25	Temporarily restricted				
Ba	26	Permanently restricted				
Net Assets or Fund Baland		Foundations that do not follow SFAS 117, check here ▶ □				
בַּ		and complete lines 27 through 31.	:			
Ž	27	Capital stock, trust principal, or current funds				
S	28	Paid-in or capital surplus, or land, bldg., and equipment fund				ĺ
set	29	Retained earnings, accumulated income, endowment, or other funds				
As	30	Total net assets or fund balances (see page 17 of the				
et/		instructions)	1,057,575	1,208,	703	
ž	31	Total liabilities and net assets/fund balances (see page 17				
		of the instructions)	1,057,575	1,208,	703	
	rt III	Analysis of Changes in Net Assets or Fund Balances				
1		I net assets or fund balances at beginning of year-Part II, colu				
		-of-year figure reported on prior year's return)			1	1,057,575
2	2 Enter amount from Part i, line 27a					151,128
3	Othe	er increases not included in line 2 (itemize) ▶		L	3	
4	Add	lines 1, 2, and 3	· · · · · · · · · · · · · · · · · · ·	_	4	1,208,703
5	Deci	reases not included in line 2 (itemize) ► Il net assets or fund balances at end of year (line 4 minus line 5)—	B	<u>. </u>	5	
6	Fota	lpha net assets or tund balances at end of year (line 4 minus line 5) -1	Part II, column (b), lin	e 30	6	1,208,703

Part	(a) List and describe th	Losses for Tax on Investn le kind(s) of property sold (e.g., real estat ise; or common stock, 200 shs. MLC Co	e,	(b) How acquired P—Purchase	(c) Date acquired (mo , day, yr.)	(d) Date sold (mo , day, yr)
	a Statement #1 Publicly traded securities				(110 , ddy, y)	(110 ; day; y.)
<u></u> b	Otatement #1 1 ability trac	ica scourites		-		
<u>c</u>		· · · · · · · · · · · · · · · · · · ·			-	
d					-	
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		r other basis ense of sale		ın or (loss) (f) mınus (g)
a	49,551			73,044		(23,494)
b						
c						
d						
е						<u> </u>
	Complete only for assets sho	owing gain in column (h) and owned	by the foundation	on 12/31/69	(I) Gains (Co	ol (h) gain minus
	(i) F.M V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		es of col (i) (j), if any	col (k), but no	ot less than -0-) or from col (h))
a					-	
<u>b</u>					·	
<u> </u>						
<u>d</u>						
<u> e</u>						
2	Capital gain net income o		also enter in Pa , enter -0- in Pa		2	(23,494)
3	If gain, also enter in Part I	n or (loss) as defined in sections , line 8, column (c) (see pages 1	3 and 17 of the	instructions).		
	If (loss), enter -0- in Part I				3	3,911
Part	V Qualification Und	ler Section 4940(e) for Redu	uced Tax on N	let Investment	Income	
Was t		e this part blank. section 4942 tax on the distribu qualify under section 4940(e). D			base period?	☐ Yes ☐ No
1	Enter the appropriate amo	ount in each column for each ye	ar; see page 18	of the instruction	ns before making	any entries.
Cale	(a) Base penod years endar year (or tax year beginning in	(b) Adjusted qualifying distribution	s Net value o	(c) f nonchantable-use a		(d) stribution ratio divided by col (c))
	2008					
	2007					
	2006					
	2005					
	2004					
 2 Total of line 1, column (d)						
4	4 Enter the net value of noncharitable-use assets for 2009 from Part X, line 5					
5	5 Multiply line 4 by line 3				. 5	
6	Enter 1% of net investme	nt income (1% of Part I, line 27b)		. 6	<u> </u>
7	Add lines 5 and 6				. 7	
8		ons from Part XII, line 4 ater than line 7, check the box in ge 18.			. 8 that part using a	1% tax rate. See the

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see page 18 of the	e insi	ruction	ons)			
1a	Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1. Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)						
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check						
	here ▶ □ and enter 1% of Part I, line 27b						
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b)						
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)						
3	Add lines 1 and 2						
4							
5 6	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0						
а	Credits/Payments: 2009 estimated tax payments and 2008 overpayment credited to 2009 6a						
b	Exempt foreign organizations—tax withheld at source 6b						
c	Tax paid with application for extension of time to file (Form 8868) . 6c						
ď	Backup withholding erroneously withheld 6d						
7	Total credits and payments. Add lines 6a through 6d						
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8						
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed ▶ 9						
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10						
11	Enter the amount of line 10 to be: Credited to 2010 estimated tax ▶ Refunded ▶ 11						
	VII-A Statements Regarding Activities						
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in any political campaign?		Yes	<u>No</u>			
h	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see page 19	1a		<u>√</u>			
b	of the instructions for definition)?	1b		✓			
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities.						
C	Did the foundation file Form 1120-POL for this year?	1c		✓			
d	• • • · · · · · · · · · · · · · · · · ·						
е							
2	Has the foundation engaged in any activities that have not previously been reported to the IRS? If "Yes," attach a detailed description of the activities.						
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3					
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		√			
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b					
5	to the contract of the contrac						
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:						
	By language in the governing instrument, or		ı				
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that						
	conflict with the state law remain in the governing instrument?	6 7	1				
7							
8a	Enter the states to which the foundation reports or with which it is registered (see page 19 of the instructions) ► West Virginia						
b	b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by <i>General Instruction G? If "No," attach explanation</i>						
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or						
	4942(j)(5) for calendar year 2009 or the taxable year beginning in 2009 (see instructions for Part XIV on page						
	27)? If "Yes," complete Part XIV	9		<u> </u>			
10	O Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses						

Pac	ıA	5
-	o	•

Part	VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see page 20 of the instructions)	11		✓
12	Did the foundation acquire a direct or indirect interest in any applicable insurance contract before			
	August 17, 2008?	12		✓
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	1	
	Website address ▶			
14		4-295-	3311	
		3105-8	002	
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here			▶ □
	and enter the amount of tax-exempt interest received or accrued during the year ▶ 15			
Part	VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a		i	
	disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? \square Yes \square No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for			
	the benefit or use of a disqualified person)?		}	
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the			
	foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations	L		
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)?	1b		
_	Organizations relying on a current notice regarding disaster assistance check here			
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009?			
•		1c		
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):			
а	At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and			
a	6e, Part XIII) for tax year(s) beginning before 2009?		- 1	
	If "Yes," list the years ▶ 20 , 20 , 20 , 20		Ì	
ь	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to		1	
	all years listed, answer "No" and attach statement—see page 20 of the instructions.)	2b	<u>†</u>	
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
			ł	
За	► 20, 20, 20, 20 Did the foundation hold more than a 2%'direct or indirect interest in any business enterprise		1	
	at any time during the year?		į	
b	If "Yes," did it have excess business holdings in 2009 as a result of (1) any purchase by the foundation or		ļ	
-	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the		ĺ	
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of		ļ	
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the	.		
	foundation had excess business holdings in 2009.)	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		✓
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2009?	4b		✓

_	•
Page	c

Part	VII-B	Statements Regarding Activities	for W	hich Form	4720 I	<u>May Be R</u>	equire	d (contii	าued)			
5a	During th	ne year did the foundation pay or incur a	ny amo	ount to:	-			•				
		on propaganda, or otherwise attempt to						Yes	✓ No			
		ence the outcome of any specific public tly or indirectly, any voter registration dri		on (see secti				Yes	☑ No			
	(3) Provi	de a grant to an individual for travel, stu-	dy, or c	other similar p	ourpose	es?		☐ Yes	✓ No			
		de a grant to an organization other thar on 509(a)(1), (2), or (3), or section 4940(d						☐ Yes	☑ No			
		de for any purpose other than religious,							_	ŀ		
_		oses, or for the prevention of cruelty to o								ł		b
þ		swer is "Yes" to 5a(1)–(5), did any of the										
	Regulations section 53.4945 or in a current notice regarding disaster assistance (see page 22 of the instructions)? Organizations relying on a current notice regarding disaster assistance check here											
С								' 				
	because it maintained expenditure responsibility for the grant?											
		attach the statement required by Regula										
6a		oundation, during the year, receive any					emiums	_				
	•							∐ Yes	_☑ No			
b		oundation, during the year, pay premiun to 6b, file Form 8870.	ıs, aire	ctly or indired	ctiy, on	a personai	benefit	contract	<i>.</i>	6b		 -
7a		ne during the tax year, was the foundation a	a party f	to a prohibited	tax she	elter transac	tion?	☐ Yes	 ✓ No			
		d the foundation receive any proceeds o	r have	any net inco	me attri	butable to	the trar			7b		
Par	t VIII	Information About Officers, Direct	tors, 1	rustees, F	ounda	tion Mana	agers,	Highly F	Paid E	mploy	ees,	
		and Contractors										
1	List all c	officers, directors, trustees, foundation								nstructi	ons).	
· ·-,		(a) Name and address	hou	e, and average rs per week ed to position	(c) Coi (If not	mpensation paid, enter -0-)	emplo	Contribution yee benefit erred compe	plans	(e) Expe	nse acc allowan	
	H Esbens		Preside	ent < 1		-0-			-0-			-0-
	as R Davie	e, Vienna, WV 26105										
		t Circle, Vienna, WV 26105	VICE PI	resident < 1		-0-			-0-			-0-
	el D Cain		Secv/T	reas < 1								
Rt 1 B	ox 58, Cai	ro, WV 26337				-0-			-0-			- 0-
Bryan	J Ream		Directo	or < 1		-0-			-0-			-0-
		t Circle, Vienna, WV 26105	- /-Ab	4b 4b		منا مم ادماد،			02 -6	tha ina		
	•	nsation of five highest-paid employee enter "NONE."	es (otno	er than thos	e inclu	idea on iir	ie i – s					ons).
	(a) Name an	d address of each employee paid more than \$50,00	00	(b) Title, and a hours per v devoted to p	veek -	(c) Compe	nsation	(d) Contribution (d) Co	benefit deferred	(e) Expe	nse acc allowan	count, ces
None												
				İ								
[otal	number o	f other employees paid over \$50,000 .		_		<u> </u>			. ▶			
						•				i		

and Contractors (continued) 3 Five highest-paid independent contractors for professional services (see page 23 of the instructions). If none, enter "NC						
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation				
None		(c) componedation				
						
Tota	I number of others receiving over \$50,000 for professional services					
		<u> </u>				
Par	t IX-A Summary of Direct Charitable Activities					
	t the foundation's four largest direct chantable activities during the tax year. Include relevant statistical information such as the number of ganizations and other beneficiaries served, conferences convened, research papers produced, etc	Expenses				
	None					
•						
2						
3						
	······································					
4						
-	······································					
	······					
Par	t IX-B Summary of Program-Related Investments (see page 24 of the instructions)					
De	scribe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount				
1	None					
2						
All	other program-related investments. See page 24 of the instructions.					
3						
Tota	I. Add lines 1 through 3					

Part	Minimum Investment Return (All domestic foundations must complete this part. Fore see page 24 of the instructions.)	ign founda	ations,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes:		
а	Average monthly fair market value of securities	1a	919,910
b	Average of monthly cash balances	1b	139,949
С	Fair market value of all other assets (see page 24 of the instructions)	1c	
d	Total (add lines 1a, b, and c)	1d	1,059,859
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)	<u>. </u>	
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	1,059,859
4	Cash deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see page 25 of		
	the instructions)	4	<u>15,</u> 898
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,043,961
6	Minimum investment return. Enter 5% of line 5	6	52,198
Part		operating	
	foundations and certain foreign organizations check here ▶ ☐ and do not complete this part.)	r -	
1	Minimum investment return from Part X, line 6	1	52,198
2a	Tax on investment income for 2009 from Part VI, line 5 2a -0-	-1 }	
b	Income tax for 2009. (This does not include the tax from Part VI.) 2b -0-	+	
C	Add lines 2a and 2b	2c	-0-
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	52,198
4	Recoveries of amounts treated as qualifying distributions	4	-0-
5	Add lines 3 and 4	5	52,198
6	Deduction from distributable amount (see page 25 of the instructions)	6	
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	52,198
Part	Qualifying Distributions (see page 25 of the instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	T T	
а	Expenses, contributions, gifts, etc. – total from Part I, column (d), line 26	1a	69,786
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	·-	
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	69.786
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
=	Enter 1% of Part I, line 27b (see page 26 of the instructions)	5	
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	69,786
-	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating		
	qualifies for the section 4940(e) reduction of tax in those years.	9 **********	are roundation

Part	XIII Undistributed Income (see page 26	of the instructions)		
1	Distributable amount for 2009 from Part XI,	(a) Corpus	(b) Years prior to 2008	(c) 2008	(d) 2009
_	line 7		-		52,198
2	Undistributed income, if any, as of the end of 2009:				
а	Enter amount for 2008 only			-0-	
b	Total for prior years: 20,20,20		-0-		
3	Excess distributions carryover, if any, to 2009:				
а	From 2004				
b	From 2005				
C	From 2006				
d	From 2007				
е	From 2008				
f	Total of lines 3a through e	137,772			
4	Qualifying distributions for 2009 from Part XII,				
	line 4: ▶ \$ 69,786				
а	Applied to 2008, but not more than line 2a .			-0-	
b	Applied to undistributed income of prior years				
	(Election required - see page 26 of the instructions)		-0-		
С					
_	required—see page 26 of the instructions) .	-0-	İ		
d	Applied to 2009 distributable amount				52,198
e	Remaining amount distributed out of corpus	17,588			32,130
5	Excess distributions carryover applied to 2009	-0-			-0-
5	(If an amount appears in column (d), the same				
	amount must be shown in column (a), the same				
6	Enter the net total of each column as	-			
U	indicated below:				
_		155,360			
a	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	155,360			
b	Prior years' undistributed income. Subtract line 4b from line 2b	}	_		
			-0-		<u> </u>
С	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)				
_	tax has been previously assessed		-0-		
đ	Subtract line 6c from line 6b. Taxable				
	amount—see page 27 of the instructions .		-0-		
е	Undistributed income for 2008. Subtract line				
	4a from line 2a. Taxable amount—see page				
	27 of the instructions			-0-	
f	Undistributed income for 2009. Subtract lines				
	4d and 5 from line 1. This amount must be				
	distributed in 2010				-0-
7	Amounts treated as distributions out of corpus				
	to satisfy requirements imposed by section				
	170(b)(1)(F) or 4942(g)(3) (see page 27 of the				
	instructions)	9			
8	Excess distributions carryover from 2004 not				
	applied on line 5 or line 7 (see page 27 of the	1		-	
	instructions)	-0-			
9	Excess distributions carryover to 2010.				
	Subtract lines 7 and 8 from line 6a	155,360			
10	Analysis of line 9:	,			
а	Excess from 2005				
b	Excess from 2006				
C	Excess from 2007]			
d	Excess from 2008		ļ	ļ	
_	Excess from 2009				

Part	XIV Private Operating Founda	tions (see page	27 of the instruc	ctions and Part V	II-A, question 9)	
1a	If the foundation has received a ruling					
	foundation, and the ruling is effective fo		-			
_	Check box to indicate whether the four		operating founda		ection	(3) or 4942(j)(5)
2a	Enter the lesser of the adjusted net income from Part I or the minimum	Tax year		Prior 3 years		(e) Total
	investment return from Part X for	(a) 2009	(b) 2008	(c) 2007	(d) 2006	
	each year listed					
b	85% of line 2a		ļ			
С	Qualifying distributions from Part XII,		1			
	line 4 for each year listed	<u></u>				
a	Amounts included in line 2c not used directly for active conduct of exempt activities					
е	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon:					
а	"Assets" alternative test-enter:					
	(1) Value of all assets					
	(2) Value of assets qualifying under					
.	section 4942(j)(3)(B)(i)					
U	of minimum investment return shown in					
_	Part X, line 6 for each year listed	<u>-</u>				
С	"Support" alternative test—enter:					
	(1) Total support other than gross investment income (interest,					
	dividends, rents, payments on					
	securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public					
	and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from an exempt organization					
	(4) Gross investment income					
Part		• •	•		ad \$5,000 or m	ore in assets at
	any time during the year-		f the instruction	<u>15.)</u>		
1	Information Regarding Foundation	•				
а	List any managers of the foundation					by the foundation
	before the close of any tax year (but o	mly if they have co	ontributed more tr	iari \$5,000). (See S	ection 507 (a)(2).)	
	H Esbenshade III List any managers of the foundation	who own 1004 o	r more of the star	ok of a paragration	/or on oqually la	rae portion of the
b	ownership of a partnership or other e					ige portion of the
None		,		To your grounds into		
2	Information Regarding Contribution	n. Grant. Gift. Loa	n. Scholarship, e	etc Programs:	=	
_	Check here ► ☑ if the foundation				organizations and	does not accept
	unsolicited requests for funds. If the	•			•	•
	organizations under other conditions,	complete items 2	a, b, c, and d.			
а	The name, address, and telephone nu	ımber of the perso	on to whom applic	ations should be a	ddressed:	
b	The form in which applications should	l be submitted and	d information and	materials they sho	uld include:	
	A A					
	Any submission deadlines:					
d	Any restrictions or limitations on av factors:	vards, such as b	y geographical a	reas, charitable fie	elds, kinds of inst	titutions, or other

Part XV Supplementary Information (continued)

3 Grants and Contributions Paid During t	he Year or Approve	ed for Fut	ture Payment	
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or	Amount
Name and address (home or business)	any foundation manager or substantial contributor	recipient	contribution	
a Paid during the year				
Vienna Elementary School PTA, 700 41st St Vienna, WV 26105			Angel Fund	4,000
Duke University, 2127 Campus Drive Durham, NC 27708			Fuqua School of Business	15,000
Duke University, 2127 Campus Drive Durham, NC 27708			Trinity Fund	15,000
Duke University, 2127 Campus Drive Durham, NC 27708			Nasher Fund	7,500
Bucknell University, 82 University Avenue Lewisburg, PA 17837			Bucknell Parents Fund	2,500
The Hill School, 717 East High Street Pottstown, PA 19464			Hill School Annual Fund	5,000
Marietta College, 215 5th Street Marietta, OH 45750			Annual Fund	2,500
Vienna Recreation Association, PO Box 5097 Vienna, WV 26105			Support the Association	1,000
Cleveland Clinic Foundation, 99 Northline Circle Euclid, OH 44119			Orthopedic Surgery	4,000
Cleveland Clinic Foundation, 99 Northline Circle Euclid, OH 44119			Shoulder & Elbow Surgery	4,000
Cleveland Clinic Foundation, 99 Northline Circle Euclid, OH 44119			Dept of Psychiatry & Psychology	1,000
SMU University, PO Box 2123927 Dallas, TX 75222			SMU Parent Fund	2,500
SW Resources, Inc, 1007 Mary Street Parkersburg, WV 26101			Programs for ind w/ disabilities	1,000
	<u>.</u>		▶ 3a	65,000
b Approved for future payment				
None				
Total	<u> </u>	<u> </u>	▶ 3b	

Pa	rt X\	/I-A Analysis of Income-Producing Ad	ctivities				
		ss amounts unless otherwise indicated.	·	usiness income	Excluded by sect	ion 512, 513, or 514	(e)
1		gram service revenue:	(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income (See page 28 of the instructions.)
	а	_					
	b						
	c						· ·
	ď						
	e '				,		
	f		· · · · · · · · · · · · · · · · · · ·				
	g	Fees and contracts from government agencies					
2	_	mbership dues and assessments					
3		rest on savings and temporary cash investments					
4		dends and interest from securities					
5		rental income or (loss) from real estate:					
		Debt-financed property	· · · · · · · · · · · · · · · · · · ·	-			. , .
		Not debt-financed property					
6		rental income or (loss) from personal property					
7		er investment income					_ ,
8		or (loss) from sales of assets other than inventory					
9		income or (loss) from special events			ļ		
10		ss profit or (loss) from sales of inventory					
11		er revenue: a					
				·			
	ď						
	e						
12		total. Add columns (b), (d), and (e)					
		al. Add line 12, columns (b), (d), and (e)				13	
		ksheet in line 13 instructions on page 28 to verif					
		/I-B Relationship of Activities to the A	<u> </u>		t Purposes		_
	e No. ▼	Explain below how each activity for which accomplishment of the foundation's exempt instructions.)	income is repo purposes (other	orted in column than by providin	(e) of Part XVI g funds for suc	l-A contributed in the purposes). (Se	mportantly to the page 29 of the
				•			
				<u>.</u> .			
			 				
							-·
							
							
							
							
		<u> </u>				<u>-</u>	
							-
		 					
		 					
		 					
		 					
							
		 					
		 					

		Exempt Or	ganizations								
1	in s	the organization of	directly or indirectly	engage in any of the section 501(c)(3) orga						Yes	No
а	_		porting foundation t	o a noncharitable exe	mpt organizat	ion of:					
_			-						1a(1)		1
		Other assets .							1a(2)		1
b		er transactions:						• •	,_,		<u> </u>
_			a noncharitable ex	empt organization .					1b(1)		1
				able exempt organiza					1b(2)		1
				er assets					1b(3)		1
									1b(4)		1
									1b(5)		1
				hip or fundraising solid					1b(6)		1
С				ists, other assets, or p					1c		1
d		-		es," complete the folio					w the	fair m	arket
				ices given by the repo							
				gement, show in colun							
(a) Lin	e no	(b) Amount involved	(c) Name of nonc	haritable exempt organization	on (d) D	escription of	transfers, transa	ctions, and sha	ring arra	angeme	ents
									·		
							<u> </u>				
								···			
											_
2a b	des	cribed in section 5		ffiliated with, or relate other than section 501] Yes		No
	•	(a) Name of organ		(b) Type of org	anization		(c) Descr	ption of relation	nship		
				(1,),,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	·		<u> </u>				_
											
								-			
											
				mined this return, including preparer (other than taxpayo							
		Michael	D. On	•	05/04/	2010	Secretary	//Treasurer			
<u>e</u>	Sig	nature of officer or tru	stee		Date		Title			-	
문					Date			Preparer's ic	dentifyii	าตู	
Sign Here	Paid Preparer's	Preparer's signature				Check self-em	of ployed ► □	number (see page 30 of t	Signa	ture o	
	_ P	Firm's name (or you	ırs ıf		1	1	EIN►				
		self-employed), add and ZIP code	iress,	,,, <u></u> ,	· 		Phone no.				

Information Regarding Transfers To and Transactions and Relationships With Noncharitable

Schedule B (Form 990, 990-EZ,

or 990-PF)

Department of the Treasury Internal Revenue Service

Name of the organization

Schedule of Contributors

Attach to Form 990, 990-EZ, or 990-PF.

OMB No 1545-0047

Employer identification number Esbenshade Foundation 0779947 55 Organization type (check one): Filers of: Section: Form 990 or 990-EZ 501(c)() (enter number) organization 4947(a)(1) nonexempt charitable trust **not** treated as a private foundation ☐ 527 political organization 501(c)(3) exempt private foundation Form 990-PF 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions. **General Rule** For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. **Special Rules** For a section 501(c)(3) organization filing Form 990 or 990-EZ that met the 33%% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h or (ii) Form 990-EZ, line 1. Complete Parts I and For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, aggregate contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not aggregate to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2 of its Form 990, or check the box on line H of its Form 990-EZ, or on line 2 of its Form 990-PF, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

	1		2	
Page	•	of	_	of Part

Schedule B	(Form 990.	990-EZ.	or 990-PF)	(2009)

Name of organization Esbenshade Foundation Employer identification number 55 0779947

Part I	Contributors (see instructions)		
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
1	The Laurel Management Group, Inc PO Box 5341 Vienna, WV 26105-5341	\$17,500	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
2	Tri-State Roofing & Sheet Metal Co of OH PO Box 188 Davisville, WV 26142-9605	\$ 20,000	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
.3	Tri-State Roofnig & Sheet Metal Co of WV PO Box 1231 Charleston, WV 25324-1231	\$20,000	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
4	Service Roofing & Sheet Metal Co PO Box 1864 Greenville, NC 27835-1864	\$ 12,000	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
5	The Mountain Company PO Box 5310 Vienna, WV 26105	\$ 25,000	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
6	Whitley/Service Roofing & Sheet Metal Co PO Box 13085 Richmond, VA 23225-3085	\$ 12,000	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)

Schedule	В	(Form	990.	990-FZ	or 990	-PF	(2009)

Page	 of	 of Part I

Name of organization **Employer identification number Esbenshade Foundation** 55 0779947 Part I Contributors (see instructions) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Aggregate contributions** Type of contribution 7 Harry H Esbenshade III Person **Payroll** 4403 3rd Avenue 99,159 Noncash (Complete Part II if there is Vienna, WV 26105 a noncash contribution.) (a) (b) (c) (d) No. Name, address, and ZIP + 4 Aggregate contributions Type of contribution Person **Payroll** Noncash (Complete Part II if there is a noncash contribution.) (a) (b) (c) (d) Aggregate contributions No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II if there is a noncash contribution.) (b) (d) (a) (c) Aggregate contributions No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II if there is a noncash contribution.) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Aggregate contributions** Type of contribution Person **Payroll** Noncash (Complete Part II if there is a noncash contribution.) (a) (b) (c) (d) No. Name, address, and ZIP + 4 Aggregate contributions Type of contribution Person **Payroll** Noncash (Complete Part II if there is a noncash contribution)

Name of organization **Esbenshade Foundation**

Employer identification number 55 0779947

Part II	Noncash Property (see instructions)		
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
7	1 sh Berkshire Hathaway, Inc Class A	00.450	42 45 2000
		\$ 99,159	12 / 15 / 2009
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	//
		-	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	l
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	l
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
			, .
		\$	/

ESBENSHADE FOUNDATION 990-PF 2009

55-0779947

SCHEDULE IN SUPPORT OF Part 1, Item 16c

Other professional fees

Gardner, Russo & Gardner

Investment advisory fees 3,962

Total 3,962

SCHEDULE IN SUPPORT OF Part 1, Item 18

Taxes

State of West Virginia 25

Foreign tax paid on dividends received 799

Total 824

<u>SYM</u>	COMPANY	# OF SHARES	AVG COST PER SHARE	TOTAL COST	12/31/09 MARKET CLOSE
AAP	Advance Auto Parts, Inc.	260	38.88	10,108.28	10,524.80
МО	Altria Group, Inc.	900	18.94	17,047.25	17,667.00
AXP	American Express	765	37.01	28,312.66	30,997.80
BDX	Becton Dickinson & Co.	220	69.16	15,214.76	17,349.20
WRB	Berkley, W. R. Corp.	600	24.72	14,830.86	14,784.00
BRK A	Berkshire Hathaway CI A	1	99,159.00	99,159.00	99,200.00
BRK B	Berkshire Hathaway Cl B	13	2,964.94	38,544.21	42,718.00
BTAFF	British American Tobacco	375	28.06	10,524.23	12,209.40
Bf.a	Brown Foreman CI A	200	43.32	8,664.00	11,268.00
CDSCF	Cadbury PLC	1,375	10.48	14,403.48	17,705.05
KMX	Carmax, Inc.	515	19.43	10,006.45	12,488.75
CFRUF	CIE Finance Richemont	975	21.11	20,585.00	32,764.12
CVX	Chevron Corp	150	60.07	9,011.00	11,548.50
ко	Coca Cola Co.	700	42.60	29,821.91	39,900.00
CMCSA	Comcast Corp CI A	1,962	19.40	38,070.92	32,080.57
COP	ConocoPhillips	330	60.53	19,974.87	16,853.10
DLRUF	De La Rue PLC	641	21.80	13,972.63	10,095.75
DGEAF	Diageo PLC	925	14.34	13,268.22	16,189 59
ХОМ	Exxon Mobil Corp.	250	58.66	14,664.00	17,047.50
FAST	Fastenal Co.	270	26.09	7,045.08	11,242.80
GE	General Electric	670	29.93	20,053.10	10,137.10
HAS	Hasbro	125	27.48	3,435.46	4,007.50
HKHHF	Heineken Hldg NV	1,300	33.40	43,424.75	54,503.44
нвс	HSBC HLDGS PLC ADR	136	53.35	7,256.03	7,764.24
IDXX	Idexx Labs Inc. Com	360	27.61	9,939.24	19,242.00
IRM	Iron Mtn Inc PA COM	390	25.71	10,026.90	8,876.40
JNJ	Johnson & Johnson	397	63.06	25,035.61	25,570.77
KWEGF	Koninklijke Wegener	1,000	9.99	9,993.75	5,724.70
KFT	Kraft Foods, Inc.	783	28.40	22,238.52	21,281.94

1,198,500.54

<u>SYM</u> LOW	COMPANY Lowes Cos, Inc.	# OF <u>SHARES</u> 400	AVG COST PER SHARE 24.99	TOTAL <u>COST</u> 9,995.96	12/31/09 MARKET CLOSE 9,356.00
MLM	Martin Marietta Material Inc	350	89.35	31,273.85	31,293.50
MA	Mastercard, Inc. Cl A	80	183.40	14,672.00	20,478.40
МНК	Mohawk Industries	85	79.30	6,740.50	4,046.00
NSRGY	Nestle SA Spons ADRS	1,735	29.05	50,393.47	84,098.25
ORLY	O'Reilly Automotive Inc	320	31.40	10,048.00	12,198.40
PCAR	Paccar, Inc.	625	24.08	15,051.75	22,668.75
PEP	Pepsico Inc.	200	54.48	10,895.00	12,160.00
PDRDF	Pernod Ricard ORD SHS	366	82.24	30,101.66	31,474.03
MO	Phillip Morris Intl Inc.	1,100	46.05	50,652.25	53,009.00
PSEPF	Porsche AG DR ING	215	66.87	14,377.25	13,222.50
PCP	Precision Castparts Corp	140	71.91	10,067.12	15,449.00
PG	Proctor & Gamble Co.	288	51.87	14,938.55	17,461.44
QNTQF	Qinetiq Group PLC	3,600	3.01	10,829.00	9,720.00
RBA	Ritchie Bros Auctioneers	515	19.40	9,992.81	11,551.45
RYCEF	Rolls Royce Group PLC Shs	1,500	10.04	15,067.40	11,550.00
SBMRF	SABMiller PLC	1,000	18.49	18,487.00	29,482.60
SNY	Sanofi Aventis	250	39.28	9,820.00	9,817.50
SNI	Scripps Networks	325	45.28	14,717.00	13,487 50
TJX	TJX Companies, Inc.	490	30.75	15,067.30	17,909.50
USB	US Bancorp DEL	615	32.39	19,920.98	13,843.65
UN	Unilever NV New York	1,025	24.13	24,734.25	33,138.25
UPS	United Parcel Service	125	80.66	10,082.50	7,171.25
WMT	Wal-Mart Stores Inc	325	46.55	15,130.05	17,371.25
WFC	Wells Fargo	1,985	29.54	58,629.66	54,249.90
WPO	Washington Post	24	727.59	17,462.24	10,550.40
					1 100 500 54

Part IV Capital Gains and Losses for Tax on Investment Income **ESBENSHADE FOUNDATION** Statement #1 990-PF 2009

LONG-TERM

g. Cost/basis h. Gain or (loss) (4,441.28)(6,271.01)(9,723.16) (6,551.71)816.35 (648.01)12.46 (21,813.43)(1,68020)140.56 207.22 5.67 800.27 301.31 1,294.47 2,243.43 4,523 93 6,416.00 9,969.65 9,923 49 9,950.00 62,912.18 10,018.01 5,036.50 7,074 60 10,132.21 e. Gross sale f. Depreciation 246.49 82.65 144.99 5.67 800.27 301.31 140.56 207.22 12.46 3,466.30 11,217.96 5,852.85 6,426.59 41,098.75 49,550 76 12,193.43 8,452.01 4/20/2009 4/20/2009 4/20/2009 4/16/2009 4/21/2009 4/29/2009 8/4/2009 8/25/2009 10/5/2009 11/3/2009 11/3/2009 11/3/2009 11/3/2009 11/4/2009 d. Date sold Subtotal long-term from Gardner Russo & Gardner Realized Gains and Losses Report c, Date acquired 8/21/2001 6/14/2002 12/17/2002 4/8/2008 12/17/2002 9/21/2007 8/13/2007 8/13/2007 3/14/2007 6/26/2007 8/15/2007 1/2/2008 6/19/2002 4/8/2008 Purchase Date b. How acquired ٩ ۵. Δ. ۵ ۵ ₾ ۵ α. 85800 Rolls Royce Group C Shs 128700 Rolls Royce Group C Shs Frac. HSBC HIdgs PCL Rts 56 HSBC Hidgs PCL Rts Common Stock 57 American Int'l Group 100 American Int'l Group 85 Pernod Richard Rts 60 Burlington Northern 115 Burlington Northern 125 Burlington Northern 200 Bank of America Frac. Pernod Richard Total long-term 280 Moodys Corp. 210 USG Corp. Subtotal a. Shares

(23,493.63)

73,044 39

ESBENSHADE FOUNDATION
Statement #1 990-PF 2009
Part IV Capital Gains and Losses for Tax on Investment Income

SHORT-TERM

a. Shares	Common Stock	b. How acquired	Purchase Date c, Date acquired	d. Date sold	e Gross sale	e Gross sale f. Depreciation g. Cost/basis h. Gain or (loss)	g. Cost/basis h	n. Gain or (loss)	
200 (500 Cummins Engine, Inc.	۵	10/23/2008	5/11/2009	16,300 18		15,042.55	1,257.63	
270 (270 Caterpillar, Inc.	۵	10/23/2008	8/25/2009	12,782 01		10,051.54	2,730.47	
•,	Subtotal				29,082.19		25,094.09	3,988.10	
Subtotal short	Subtotal short-term from Gardner Russo & Gardner Realized Gains and Losses Report	ծ Gardner Realized	d Gains and Losses	Report	391.99		469.52	(77.53)	
r-	Total short-term				29,474.18		25,563.61	3,910 57	